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FY| BA~BK |k / n|FH| BA~BX |k / n|FY| BO~BK |k / n|FH| Bh~BK |k / n|FY| BI~8BK |k / n
FARNA) [25TiE ~ / - <0.01 ~<0.01 {0/ 11]0.02 0.02 ~ 0.02 1/1 - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1
FHN(Q2) )| == ~ / - <0.01 ~<0.01 {0 / 1]0.06 0.06 ~ 0.06 1/110.02 0.02 ~ 0.02 1/1 - <0.01 ~<0.01 |0 /1
HIILE5R EAE ~ / - <0.01 ~<0.01 |0/ 11]0.02 0.02 ~ 0.02 1/1 - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1
HITHRA) |BKRE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 {0/ 11]0.02 0.02 ~ 0.02 1/1 - <0.01 ~<0.01 |0 /1 ~ /
HIITRQ |51 ~ / - <0.01 ~<0.01 |0/ 1]0.03 0.03 ~ 0.03 1/110.02 0.02 ~ 0.02 1 /1 - <0.01 ~<0.01 |0 /1
BN EFR Q) |HETHE - <0.01 ~<0.01 |10/ 6 - <0.01 ~<0.01 |0 /6] 0.03 0.01 ~0.04 6 /6 - <0.01 ~<0.01 |0 /6 - <0.01 ~<0.01 |0 /6
BIER Q) |Z&XIB - <0.01 ~<0.01 |10/ 6 - <0.01 ~<0.01 |0 /6] 0.02]|<0.01 ~0.06 5 /6 - <0.01 ~<0.01 |0 /6 - <0.01 ~<0.01 |0 /6
BBIITR R=IE - <0.01 ~<0.01 |10/ 6 - <0.01 ~<0.01 |0 /6] 0.02 0.01 ~ 0.03 6 /6 - <0.01 ~<0.01 |0 /6 - <0.01 ~<0.01 |0 /6
KEN(2) HEHE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 {0 / 11]0.09 0.09 ~ 0.09 1/1 - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1
AREN(3) FICKIB ~ / - <0.01 ~<0.01 |0 /1]0.04 0.04 ~ 0.04 1/1 - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1
AKiEJ(3) EKIE ~ / - <0.01 ~<0.01 |0 /1]0.04 0.04 ~ 0.04 1/1 - <0.01 ~<0.01 |0 /1 ~ /
AREN(3) RiE)HERE ~ / - <0.01 ~<0.01 {0 /1]0.03 0.03 ~ 0.03 1 /1 - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1
BERIILER |REGE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /2] 0.03 0.02 ~ 0.04 2/ 2 ~ / - <0.01 ~<0.01 |0 /1
HEIITHR |[WRE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1]0.15 0.09 ~0.20 2/ 2 ~ / - <0.01 ~<0.01 |0 /1
HEITHR |[LABE ~ / - <0.01 ~<0.01 {0/ 1]0.08 0.08 ~ 0.08 1/1 - <0.01 ~<0.01 |0 /1 ~ /
HBIITHR |SEHEE ~ / - <0.01 ~<0.01 {0 /1]0.12 0.12 ~0.12 1 /1 - <0.01 ~<0.01 |0 /1 ~ /
HEIITR |EEE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1]0.12 0.12 ~0.12 1/1 - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1
HEIITR |BBRIIE ~ / - <0.01 ~<0.01 |0 /1]0.12 0.12 ~0.12 1 /1 - <0.01 ~<0.01 |0 /1 ~ /
ES4=:0N N HE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /1]0.76 0.32 ~ 1.2 2/ 2 ~ / - <0.01 ~<0.01 |0 /1
R BEAE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0/ 1]0.43 0.43 ~ 0.43 1/1 ~ / - <0.01 ~<0.01 |0 /1
eI FEAREFE - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0/ 1]0.62 0.31 ~0.93 2/ 2 ~ / - <0.01 ~<0.01 |0 /1
INBNEFR |=ERT - REEHERS - <0.01 ~<0.01 |0/ 6 - <0.01 ~<0.01 |0 /6] 0.05]|<0.01 ~0.10 5 /6 |0.01] <001 ~0.01 3/6 - <0.01 ~<0.01 |0 /6
INJITTRER /NS - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /21]0.10 0.056 ~0.14 2/ 2 ~ / - <0.01 ~<0.01 |0 /1
K& ZJ/F - <0.01 ~<0.01 |0 /1 - <0.01 ~<0.01 |0 /2] 0.42 0.38 ~ 0.45 2/ 2 ~ / - <0.01 ~<0.01 |0 /1
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Y| ®Rh~TFK |k / n|FY | RIMN~FK |k / n|EFY | RIMN~FZK |k / n|EY | JRM~FZK |k / n|EY | JRIh~"ZK |k / n
EHIILR =@ ~ [ <0.01 ~<0.01 |0 /6| - |<0.01 ~<0.01]|0/6]007]<00~010 |2/6]| - |<0.0 ~<00]0/6]| - |<0.0 ~<00]0/6
EEHIITR |AAE ~ [ <0.01 ~<0.01 |0 /6| - |<0.01 ~<0.01]|0/6]002]<0.0~002 |4/6]| - |<0.0~<00]0/6]| - |<0.0 ~<00]0/6
Tl B ~ [ <0.01 ~<0.01 |0 /6| - |<0.01 ~<0.01|0/6]001]<0.0~00 |2/6]| - |<0.0 ~<00]0/6| - |<0.0 ~<00]0/6
BRI %18 ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<001]|0/2]|005] 0.03~007 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
S *@iE ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<0.01 |0 /2|006] 002~009 |2/2|002] 0.0l ~002 |2/2]| - |<0.01~<00]0/1
)| WA ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<001]0/1]012] 0.12~012 |1 /1 ~ / ~ [ <0.01 ~<0.01 |0 /1
X8| A ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<001]|0/2]|039] 0.20~058 |2 /2 ~ / ~ [ <0.01 ~<0.01 |0 /1
1) T ~ [ <0.01 ~<0.01 |0 /6| - |<0.01 ~<001|0/6|007] 003~013 |6/6]| - |<0.0 ~<00]0/6]| - |<0.0 ~<00]0/6
)l ARIEE ~ [ <0.01 ~<0.01 |0 /6| - |<0.01 ~<0.01|0/6]005]<0.0~000 |5/6]| - |<0.0 ~<00]0/6| - |<0.0 ~<00]0/6
Al 2918 ~ [ <0.01 ~<0.01 |0 /1| - |<0.01~<001]0/1]|007] 0.06~007 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
WE | MR ANE ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<001]|0/2]|003] 002~004 |22 ~ / ~ [ <0.01 ~<0.01 |0 / 1
EE e ~ [ <0.01 ~<0.01 |0/ 1| - |<0.01 ~<001|0/2|02] 0.13~045 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
I HERE ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<0.01]0/1]|015] 0.00~021 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
J\EI BB ~ [ <0.01 ~<0.01 |0/ 1| - |<0.01 ~<0.01|0/1]|034] 0.26~041 |2/2 ~ / ~ <001 ~<0.01 |0 /2
I NEB ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<0.01 |0 /1|045] 0.45~045 |1 /1 ~ / ~ [ <0.01 ~<0.01 |0 /1
+ )] L 618 ~ / ~ [ <0.01 ~<0.01 |0 /1]015] 0156 ~015 |1 /1| - |<0.0l ~<0.01]|0 /1 ~ /
w| Tl ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<0.01|0/1]|032] 032~032 |1/1 ~ / ~ [ <0.01 ~<0.01 |0 /1
=] S ~ [ <0.01 ~<0.01 |0 /1| - |<0.01~<001]|0/1]|03] 004~055 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
FEZN |mEE ~ [ <0.01 ~<0.01 |0/ 1| - |<0.01~<001]0/1]|011] 0.08~013 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
Al E—aDiE ~ [ <0.01 ~<0.01 |0 /1| - |<0.01~<001]0/1]|031] 011 ~050 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
XEN =OME ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<001|0/1]|062] 0.62~062 |1 /1 ~ / ~ [ <0.01 ~<0.01 |0 /1
&E) s ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<0.01|0/ 1|04k 0.26~061 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
=] =IIiE ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<001]|0/1]|007] 005~008 |2/2 ~ / ~ [ <0.01 ~<0.01 |0 /1
RN |EEE ~ [ <0.01 ~<0.01 |0 /1| - |<0.01 ~<001]|0/1]|056] 0.22~09 |22 ~ / ~ [ <0.01 ~<0.01 |0 /1
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